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series is

an infinite sum of the form
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Where Xo
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a
,

9 , 12 are constants

and x is a variable.

We say the power series
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Ex: (Back to geometric series ...

In Calculus you
show that

x= ifxx

n = 0

x+ x + x+..

The sum diverges
otherwise .
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You can think of the

above as a function.

Let

f(x) =x = 1 + x + x+ x+
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f(400) = 1 + 400 + 408+ 408 + ...

diverges (X=40denta (
I

graph
of-

" Cf(x)= Y

+
n

- I "

↓
When-KX11 ,

then f(x) =

1 -X

otherwise f(x) diverges.



This is where

f(x) =x" converges
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converges

gerges-
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Ex Recall from Calculus :

X=
=x+ πx + &x+ x+

=
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0 ! = 1

1 ! = 1

2 ! = 2 . 1 = 2 This series

3 ! = 3 . 2 . 1 = 6 converges
for>

The center is Xo= 0.4 ! = 4 . 3 . 2 . 1 = 24 every
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You can plug any x into sum.



The radius of convergence

is r = D.


